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Choose

the alternative which best describes the meaning of the following sentence :
.g}

» Trees which lose the leaves annually.

(A) Yibrant
(B) Venal

() Vanerdl
(D) Deciduous.

pirections (Q- Nos. 64-68) : Find the suitable altematives for these questions on the basis of

llowing paragraph -

we live at a time when history is being remade. There is unrest in every sphere of life. There
are contradictions in aim and confusion of thought i every line. In religion, we preach the
highest philosophy and are victims of the wonst superstitions, The growth of national conscious-
pess 18 retarded by communal separatism. Take the economic situation; if anyone visits, say, the
city of Calcutta in the Christmas scason and finds oyt the amount spent on drink and dissipation,
gambling and betting: he will not consider the People or the place to be by any means poor, and
yet the existence of slums and those who live in them under conditions hardly to be borne and
a sad commentary on utter economic chaos and injustice. The mass of poverty, the extent of
illiteracy. the social obstacles in the way of improvement, the tangled growth of vested interests
(religious. political and economic) reveal not one problem, but an infinity of problems. Many of
us have an emotional apprehension of the vastness and complexity of the situation but what is
required 1s a scientific view. There are no shor cuts 1o their solutions,

On visiung the city of Calcutta on Christmas, one gets the impression that the people living
there are

(A) religious-minded

(B) immortal

(C)y well to do

(D) poor.

What 1s it that does not reveal that country faces an infinity of problems ?
(A) The mass of poverty and the extent of illiteracy

(B) The social obstacles in the way of improvement

(C) The tangled undergrowth of vested interests

(D) The amount of money being spent on drinking and other vices.
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\%boﬂld education be the same for both the poor an

¥

4 the rich ?

1 h
(A Yes. and (he nc
) > education should be same for the Poor

(B) No, there should be different education for both
(C) The poor has no right to study with the rich i
(D) Separate schools should be there for the poor 204 the: B
T o st mdw # ferg T e fo et <
) 9, seiie st o forg e el e B O

®) ﬁ,ﬁ@mwmﬁmﬁm

(©) T F sk B T G F AR T ¢

® W@Imﬁmwmaﬁmﬁm‘

If some of the teachers in your school form a separal® group, What will on:dor
(A) Will remain neutral

(B) Will inform the Principal

(C) Will advise them to desist from such groupism

(D) Will fight with them.

ﬁmméwm@mwmiamwﬁﬁ?
(A) TR @

®) wHFEE B g

© 'ﬁ?w&f%ﬁﬁ?éwma}q@mm@g@

©) TR e H

1\2}/['6 improve the pass percentage of your students, you require

(A) good salary and other facilities

(B) handsome and brilliant students

(C) hard labour and other teaching facilities

(D) no need to think as it does not affect your reputation and salary.
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74. If 20 pencils cost

(A)
—B)
©
(D)

wﬁ:zoﬁfs«?ﬁaﬁm’mmm%a’n

(A)
(B)
©

D)

Rs.

Rs.

Rs.

Rs.

75

35

25

[
(V]

e 7
26, 50, what will be the cost of 14 pencils

L '.,L‘ . i3

35 <o T ‘
Y ;

25 € 3 A

22.

4mﬁmmm?

93 ) ,
¢ 7o

R3]

k3ol

\1§./’Which of the following sets of fractions is in the ascending order ?

(A) -

(B)

A0)

(D

~—

—
.

O~

i

=

-9 . )7

02 . )/ /

7

F-ARS
~1

joud =1
o

<~
|

—

None of these.
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(D)
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NCTE &1 TNy fooqg
(A) SeE o
(B) AR H \/

©) 7% Teoeht o

(D) MEHEER W)

National Education Policy was framed by
(A) Indira Gandhi

(B) Rajeev Gandhi
(C) Narsimha Rao
(D) K.C. Pant.

T v A ¢ o <
(A) 3t=T it g
(B) Tofla it g
(C) a1 T |
(D) . T gl

. “Shikshak aur Samaj’ is the second name given to

(A) Hartog Commission
(B) Kothari Commission
(C) National Education Commission

(D) Mudaliar Commission.
‘Torerh AR T gEa AW @
(A) SR AR HT

(B) HISH AW

(©) T foen S
(D) AR ST )

39



E—
3z S
(A)@W’ﬁﬁm
(B)ﬁawmm L/
{C)“‘Erla?‘;[q&ﬁ

D) fee ATC ATl

33.{/?"";’{Mi T TR F A
Y a) T TS A A R

(B) W TV H A ¢

() T T8 R ama ?

(D) T T8 R A R

y,wfe’ T & faem

(A) FUER

35/ i w= w AR #
(A) &4 + ¥
(B) 9@ + 3V
© F9 + & wa
(D) &g + $w
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367 T T g ¥ I Y B
- (A) imfa

(B) st

(©) Tadme

(D) Zmw

F- TR AR FwEm w1 R wemd o o @
(A) I R AR &
(B) Tt ¥R W R g wmr a
(€) ¥R F1 IR eI FrA F e
(D) ¥ | =¥ =&

Bs/ﬁwﬁif@aama%hQ@magﬁq:

(A) T
(B) Q9SS

(C) FTER

(D) WETERI

39. 3% = 9fiw W ‘AR W= w1 wEEEEt w@ R o
(A) TEH
B) A
(C) I

(D)

16
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{36/& a student laughs at you in the class, what will you do ?
(A) Make him realise that it is not a good thing
(B) Beat him in the class
(C) Bowl him out of the class
? (D) Ignore him.
AR A Foremefl wan F oo SEE KW R @AM FW R 2
(A) W v FUGH fr G wN St A
B) F& ¥ Iuw! fed w4
(©) S8 w1 ¥ IR Frw A
(D) 3TH R &F T M

137. All the teachers must reach school in time, because
(A) it inculcates discipline among students
(B) students will understand the value of time
(C) students will also reach in time
(D) All the above.
TR el H FrEeE T W e =ifen, Fifn
(A) TR foenfefal # ouwH @Y e omd €
®) frend wwa % wew H W
(C) famneff it gmg W v
(D) SR asftl

51 [PTO.
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» . s from
?/9' Largest source of pollution in the world comes

(A) Automobiles

(B) Herbicides angd Pesticides
© Industrieg

(D) Sewage ang Garbage.

o 4 w5y g T Ha ¥
(A) Hremfest

(B) TR o o

(€) sum

D) 7& 43 3 hHEI-FHE)

y/ Who is the present President of USA 7

3L

(A) Obama
(B) Donald Trump

(©) Hillary Clinton
(D) Abraham Lincoln.

USA & =fum wevfy = ¢ o
(A) Sitamm

(B) Bes T

(©€) feoitt faien

(D) swmew e

' =R F ougAeE we #
(A) fagsft

(B) srea

(C) b

(D) fath

8666/777/2
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which of the following is a man-made lake ?
L-V/‘A) Rewalsar

(B) Bhrigu

©) Govind Sagar

D) Dal.

prefefEd ® ¥ - o i ¢ 2
(A REER

B) W

(c)rﬁfdam

(D)gal

o)

How many Intemational airports are in Himachal Pradesh 9
(A) One

(B) Two
(C) Not even one

(D) None of these.

feaa WU H frm s T or® € 2
(A) T

B) A

€ & it &

(D) T ¥ w7

3. In which year Kalka-Shimla Railway line was ready ?
(A) In 1910

®) In 1903
(©) In 1906
D) In 1905.

Frel- e omm fra ad ¥ T TR g o 2
(A) 1910 H
(B) 1903 H
(C) 1906 ¥
(D) 1905 H|
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10.

11.
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2
b : al Pradesh ?
‘Zanger’ is the folk dance of which district of Himach

(A) Mandi

(B) Chamba

(©) Kinnaur

(D) Bilaspur.
‘W'mmﬁmmma}m%?
(&) TR '

(B) =

(© fF=R

(D) faemag)

Who is the present Chief Justice of Himachal High Court ?
(A) Justice Mansoor Ahmed Meer

(B) Justice Bhawani Singh

(C) Justice Sham Negi

(D) Justice Bahadur Singh.

Wﬁmmwﬁg@wﬁq%?
(A) T TR eEwr Wk

(B) =rfd s fyg

(©) =amEyfd sy Fi

(D) =rmfd T@IR fg)

L

Where is Parshuram Lake situated in Himachal ?
(A) Renuka

(B) Parshupur

(C) Chamba

(D) Amba.

o) %
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ylﬂ your opinion, the work of teacher O

ganisation 15
(A) to arrange seminars from time to time

(B) to discuss the various problems of teachers

© to Help the needy teachers

(D) All the above.

S9HT 7T F§, areAmE IS Al B ®

(A) FHI-g9a R JHAR FEA

®) st 7 fafee wenel W - P
(C) SRS ATl 1 Ferdd Tl

(D) SRF @i

{1/9‘/SUPP056 your son wants to go for teaching prochSiOn»

(A) you will refuse him to go for this profession

(B) you will agree to his choice to become a teacher

(C) you will impose your own choice

(D) you will not like to have discussion on this issue.
T R B ST A e e A e ¢ @
(A) 9 3 39 FgEE ¥ A ¥ T H A

(B) U U@ e & & 9@ B Weni w

(C) &9 39 g Hl 3§ W A

(D) 29 39 g W FE a@ea wE1 TER TR

IMe dress of a teacher should be

(A) of the latest fashion
(B) simple but attractive
(C) very costly
(D) local dress.

44
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What is required to solve the problems faced by the Cquntry #
(A) an emotional approach

(B) a scientific approach

(C) rough and ready methods

(D) nationalization of major industries.

We exhibit contradictions in our aims and confusion in our thoughts When
(A) we visit the city in Christmas season
(B) we believe that growth of national consciousness is retarded by communal separatisy,

(C) we live amidst utter economic chaos

(D) we think negative.

‘Communal separatism’ means

(A) separation of different communities from each other

(B) celebration of the festivals by different communities separately
(C) antagonism between people of different faiths

(D) living of different communities in different areas.

" Choose the most suitable ‘article’ to fill in the blank :

e The lion is ................... king of beasts.
(A) the
(B) an
(C) a
(D) No article.

/ Select the correct form of ‘superlative degree’ for the word ‘BITE’ :
(A) Bited
(B) Biten
(C) Bitten
(D) Boat.

24
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98, e
> Woods Dispatch was published in
(A) 1854

(B) 1855
©) 1853
(D) 1956

EARREIC LR U S—

(A) 1854

(B) 1855 & v
©) 1853 ¥

D) 1956

99 . .
> Who starteq Operation Black Board’ ?
(A) Kothari Commission

(B) National Education Policy (1986)
© University Commission
(D) Hartog Commission,

(B) T fmen ifr (1986)
(O) Tavafqaem s
(D) &EM [
100. Who made first efforts for Compulsory Primary Education in India ? -
(A) Lord Curzon |
(B) Lord William Bentinck
(C) Dr. Hartog
(D) William Adams.

8666/777/2 <6



. in Hi
\lj/Which of the following has been declared a State fair 1

15.

(A) Shivratri fair
(B) Mahunag fair
(©) Rewalsar fair
(D) Kao fair.
ferae & frafafa § 9 frd e e Sifvq fear T R ?
(A) Raufy dar
(B) WIEART Hen
(©) famr A
(D) F=A Feml

New year festival in upper Kinnaur is called
(A) Losar

(B) Phaguli

(C) Lamoch

(D) Shirkin.

FH fH=R ¥ 79 o @ wher @ wed ¥
(A) AR

(B) et
(C) wmE
D) BrfE

5

16.” “Haemophilia’ is the disease of

8666/777/2

(A) Liver
(B) Blood
(C) Brain
(D) Bones.




AR S HE D gy @ Feed ¥ R oem wey
(&) TR W wfsm @

®) T VA, formef ol AT W R @
© TR AT 5 yrwwd

O) fEem § iRy w8

Parent-Teacher Meeting is important because it gives platform

(A) to discuss the progress report

(B) to meet the parents of the students
(©) to give solutions of problems
(D) All the above,

S -fe fifen meerqt 2K § wite T B wE wd d
(&) I e w o= w7 @ fog

B) uEFH ¥ el ® o

(©) TH=st &1 WHYH W@ B fau

(D) IWaa wf

,{9/Dr. A.PJ. Abdul Kalam is respected for

(A) being a great scientist

(B) being the President of India

(C) being a great scientist and committed teacher
(D) being an outstanding statesman.

e TR, e woM S gEE K R
(A) HEF FHIE B H T

(B) 9Ra & TU[@ R & AW

(C) WeH A 9 YRaE AR B % W
(D) ¥ TSHIf B &

53
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18.

\

ARG IL LU
(A) REQ &1

(B) @ @l

(©) femm

(D) sfgedl =i

The term “Global Warming™ means
(A) Quick melting of Polar ice

(B) Depletion of Ozone layer

(C) Heat caused through coal

(D) Rise in temperature due to carbon dioxide,
el SN W) e @

(A) YA TF F WA A s

(B) ‘SN WA @ &fo g C
(C) F1d H o d1 Fm

(D) I TERHFEE F F0 a9 § IoTE)

Which 1s India’s largest Saline water lake ?

(A) Nainital
(B) Sambhar
(C) Sishram
(D) Chilka.

W H TEE U F a) a9 e SR- § 0

(A) e
(B) I

(C) Taerm
(D) e

772 9
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TF AANGE H YA eF Ay
(A) TEH HYR % STgER

(B) TR WY IHIH

(©) sfq FeFar

(D) T gRuM

121, Fow will you help the children of your relatives who study in your school ?
(A) By giving them maximum extra marks

(B) Asking other teachers to help them

(C) You will make them work hard

(D) You will ignore them while they copy in exams.

M W RERR & w=all, S o9 % oo™ ¥ vk ¥, 9 werrw fow wwR W% 2
(A) 3% fusam i oiF W

®B) I gl ¥ st woEd FH @ fau w5

(€) 9 3% afes Rgm 0 & fau w30

(D) &9 ITH! AR &AM T A 9 98 Wl A Thd I @ a

,\1}2./ While teaching in your class, usually you find that your students are not listening to you.

You should

(A) go on teaching without any care
(B) stop teaching and leave the class
(C) change your method of teaching
(D) start beating the students.

F& ¥ TgR EC 9F: 3 IR § fr ere faenedl o W g v ® €1 et e fE

(A) o flt TR 3 Br ©

B) W I I i FE F A o WY
(C) M TR P & H T/

(D) forenfefal it el w3

45
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ﬁW‘q’ - SO F i L LIEGI %l
(A) iy
(B)
© wi
o
D) 3m)

(B) 7o
€) woRm
(D) T q Eilﬁf T

A6, “uﬁaﬂtﬁmafra@é,ﬂﬁaﬂtﬁﬁraﬁagﬁ%v'wwmm%
(A)aﬁﬁmaﬁ@ﬁmaﬁﬁm
B) v 3R Hfi ¥ frm = v T @
© wi 3R Hifd ¥ v B wHER @ few
(D) ¥R 7 Ffgar & T

8666/777/2 18



(A) IR T 2y 3
B) TIFO sminy 3
©) HISR sy 3
O T ¥ 2 5

11]¢ National unity wilj grow if
(A) a teacher serves in his own village
(B) a teacher serves in his own state
(©) a teacher seryeg in his own district

(D) a teacher serves in his country anywhere,
T T it o

(A) S5 o & e F Ned w &
(B) 3% o & To F et w2
© 9% o & ot ¥ Fodt Fwar @
D) s o Jw F we o Hed ww

Mssessment of students is necessary because
(A) it helps to know the weaknesses of the students

(B) it helps to take decision whether the students should be promoted to next class or not
(O it helps to measure the achievements of students

(D) students come to know their mistakes.
fernfefal 1 qeaieR b < oTevaw & witE
(A) TER foefdal &1 FRRY F1 v gom &
(B)uaﬁuhé%ﬁmam%ﬁﬁmﬁaﬁmmﬁmmmmm;
(C) 7% faenfeRl it Suafert & W § weE® o &
(D) 398 faenfefal &) ot Tt %1 9= @ B

41 PT.
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ara ¥ AR s fen W e TR 9 o
(A) qIE FH A

®) @ ffeam Afes 3

©) ®. &&m 3

) fafem e

10 Who is considered the father of English Education in India ?
(A) Swami Vivekanand
(B) Raja Ram Mohan Roy
(C) Lord Curzon
(D) Lord Macauley.
wRa § e foen @ fom fRQ A ST § 2
() @i faawE= @l
(B) TS THHE T I
(€) «iE FH W
(D) e FHA

192./ What is the title of the report of Kothari Commission ?
(A) Education and National Development :
(B) Education and Development
(C) Education and Productivity
(D) Education and Citizenship.
el sl F RAE & 7 A 22

(a) foen iR TG e

37
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(B) Antificial rearing of fish

(C) Art of silkworm breeding

(D) Study of various cultures.
FRER-TEH ¥ A §

(A) ¥m #1 famm

(B) woferal =1 $m qem

(©) WM & Fel B S &1 alia
(D) fafs= Sl #1 s

Who gives recognition to political parties in India ?
(A) Parliament

(B) President

(C) Supreme Court

(D) Election Commission.

aRa § USHifaE T B WA BH WEA @ € ?
(A) 98

(B) Tezafa

(C) |ar=a =

(D) frat=a s

The Chief Justice of a High Court in India is appointed by the
(A) Govemnor of the State

(B) Prime Minister of India

(C) Chief Justice of the Supreme Court

(D) President of India.

10




(A) MK. Gandhi
(B) Zakir Hussain

(C©) Gokhale :

(D). Rajeev Gandhi.

ey foren & fe=m fan o
(A) TS, Tt A

B) T & A
(C) MEA
(D) TS T A

1\9% Sadlar Commission is also known as
(A) Indian Commission
(B) Calcutta University Commission
(C) Comprehensive Commission

(D) None of these.
FeeR A H1 TG W §
(A) S ST
(B) wohl favafaeme™ Swam
(C) =UH AN

- (D) 9 ¥ HE T

n 105. Headquarters of NCTE is situated at
(A) Bangalore

(B) Jaipur

(C) New Delhi

D) Ahmedabad.

8666/777/2
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4
ging the following sentence ing

chan
tives for
§9 » Select the correct choice out of the four altema
Interrogative form -

*® Nobody would like to be called a fool.
(A) Who would like to be called a fool ?
(B) Would nobody like to be called a fool ?
© Would nobody not like to be called a fool ?
(D) Would you not like to be called a fool ?

60. Choose the word which best expresses the meaning of the given word :
®* HOARD
(A) Destroy
(B) Hide
(C) Store
(D) Divide.

61. Choose the opposite word for the given word :
* HARMONY
(A) Hatred
(B) Friction
(C) Discord
(D) Enmity.

62. Fill in the correct alternative :
L - [ ———— the party before she reached.
(A) had left
(B) left
(C) has left
(D) will have left.

8666/777/2 22



at should be subtracted from 342 so that it is divisible by 8 ?
(A) It is already divisible by 8

®) 4
© 2
®) 6.
342ﬁ%wmmﬁa€sﬂﬁmam;'\ﬂ, o
(A) & 8 I P @ W 2 Gl & %)(5/\*\0
© 4 2
) 1
Kﬂ/ﬁ/- \1BZ° iﬂ:
“/B

i
i \
i Mavodaya schools have been opened for 4 )4/

'f (A) Urban children
i (B) Slow learners
j (C) Talented rural children _
‘ (D) Mentally retarded children.
‘ A frerer @@t T ¥
(A) & =3 & foa
(B) A<gfs =i * fau
(cg)/yﬁmrrrvﬁ ooy s @ T
(D) TAfEE w9 ¥ free a= % fau

92. The apex body for school education in India is called
(A) RIE )
(B) SCERT \/
(C) NIEPA _
(D) NCERT.
ara o et e w1 v ween Feem @
(A) RIE
(B) SCERT
(C) NIEPA

- (D) NCERT.

8666/777/2 33




S ——

% Longest river of Himachal Pradesh is
1 (A) Satlyj

(B) Bias

(C) Chenab

(D) Ravi.

feqrael WY Y TS T T ®

13. ich is the highest peak in Himachal ?
"~ (A) Shilla

(B) Solang

(C) Shipki

(D) Deyo Tibba.

ferrae &1 TEQ S 9E AE-9 § 2
(A) Toreen

®) Wt g
©) o=t

(D) J= fesam

8666/777/2
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L3, . s
,\} Which type of education is most needed in today's ol
(A) Sex Education

(B) Moral Education

(C) Computer Education

(D) All the above.

I % e B s A e o A ¢
(&) A forem

®) e foran

(©) =wrgez fyren

(D) ST gsf

i teacher ?
34/. For maintaining discipline in the school, what should be done pypatie

(A) Corporal punishment should be given to students

(B) Parents of mischievous students should be called

(©) Religious education should be imparted

(D) The students should be motivated for positive educational behaviour.

e % S T e @ fore, s @ F S AT 2
(A) faenfe=t +t wrifRe qve 3 =ifen

(B) I foenfeRi & siforaresi # g =i

(C) wnftis fren <t < =nfew

(D) faenfefi =t woRieas s =@er & R 3Ra won TfEwl

M%ﬂ your opinion who is the most respected teacher ?

(A) A wealthy teacher

(B) A handsome teacher

(C) Who has many degrees

(D) Who is knowledgeable to teach the subject.

54
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40fﬁﬂfaf@3ﬁﬁﬁ?m_mwm%?
(A) @
(B) ®Id
(C) g
(D) ¥l

41, foFed ¥ 9 fqa ©m wfw .

YL 994 -‘% m ........................ T % .
(A) FAR )
9%
(B) &gH
(C) wEA
(D) ®g®H|

o P 8 d ‘e v W W v g
(A) A

(B) AT
(€) 34

(D) &

Mm%mﬁ‘m”iﬂ*wm%:
(A) 3 AN & faam
(B) T ¥t &y W g B
© @M ® AR fewm
(D) ¥ =afd =1 w9 B

& 17 [PTO.
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1 13 .
\/33: By which methodistindents leamito the: miximum

(A) By seeing

®) By.reating

(© By listening

(D) By doing themselves.

o e o el e s < 2
(A) J@HT

(B) YgHT

©) TR

< (D)St‘ﬁaqma,—@h

: following statements is vita] 9
In order to raise the standards of education, which one of the

-

(A) High salaries of teachers
(B) Continuous evaluation of students
(C) Continuous evaluation of text-books
(D) Amendments in syllabi.
s e GECERED 2
e % e ® S B for Fraffen oA F @ B e
(A) AR & I=H A
B) faenfiai o1 @R geiw
(C) UIZA-Y&IH! H MR qedihT
(D) iRl | FEhe|

135. The major objective of education is
(A) reforming the society
(B) making students disciplined
(C) developing inherent abilities of students

(D) preparing students for jobs.

50
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ion ?
93, Who gave Wardha Scheme of Education :

(A) Gopalkrishan Gokhale
(B) M.K. Gandhi

(C) Nehru
(D) None of the above.

i vy e et 4 o 2
(@A) e W
®) wH

(©) &

(D) W F ¥ & T

P

94/ Education Commission that was appointed after Independence is called

(A) University Act (1948-49)
(B) University Education Commission (1948-49)

(C) Wardha Scheme

(D) Gokhale's Bill ’ v/
e & wvan frga fean T e e weam €

(A) favafaemerm sfuf@m (1948-49)

(B) favafaemera forenm st (1948-49)

(C) T4l g

(D) TEe faa

95. The Headquarters of CBSE is situated at
(A) Mumbai
(B) Chandigarh M
(C) New Delhi
(D) Mohali.

8666/777/2




:;:?mm.m“‘W#mWlwméljoﬁm‘ifmm\f‘fh
N nooa

B) 1800 wqy

©) 1600 v

D) 1200 TR

Geeta
had Rg. 800 She spent 80% of it. With how much is she left ?

(A) Rs. 369 g‘v
(B) Rs. 289 g@vz_g; @
© Rs. 160 e=
D) Rs. 400,
o =
800 T A T T w00, e o e T T P W 0
(A) 360 T i o6 36 D,fy |
(B) 280 w3 g 7\ ® )Dak ) > g
I /6( ~5 ‘%1 e
© 160 R %, o€ )
®) 400 T o gh)”
<~ &
o et %
wi come in place of ( 7 ) 9 RQ‘N
* STRAIN : TRAIN : : STABLE : 9 =3 f‘/’”[
(A) ABLE TRVt
(B) BALES
(C) TABLE
(D) LABLE.

(7)) % = w T 3F )
* STRAIN : TRAIN : : STABLE : 2
(A) ABLE
(B) BALES
(C) TABLE
(D) LABLE.

e

366/777/2 32



(A) Because teaching is a profession of high reputation
(B) One can eam Jot of money through tuitions

©) I want ¢ use the young brain to build the nation
(D) Because My parents were teachers.

ST S F w0

(A) Fits Rmeor v 5o Hife F ZauE ¢

®) T A 7w ww o i e v 2

(C)ﬁe“*mmﬁﬂmiﬁsmmmmi
(D) FIH W H-foar steames o)

\1/2,74 What is the main reason of students not taking interest in classroom teaching at present ?

(A) Uninteresting classroom environment

(B) Curriculum not according to psychological demands of students

(C) Defective examination system

(D) All the above.

SSTH, B BRI F& AT § T T 9 F g FRO 4§ 2
(A) & &1 IFEAFL FQET

(B) WIg@HY &1 i # THiaws W @ SHER 7 @

(©) Ffepet e someh

(D) SR Tt

8666/777/2
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‘28 Why should text-books be changed after some ume -

\
(A) Because students get bored
|.;n0wl€dg€

(B) It is necessary with change of
ublishers

(C) It belps to increase income of the p

(D) It keeps teachers busy throughout life.
W-gﬁﬂaﬁ@ma‘:maﬁm
(A) FiffE fameft Fa o1 ¥

(BJmﬁwﬁrme%
(C)Wmﬂﬁaﬂmmﬁmi
e § =@ W T

ﬁmsﬂ afee ?

(D) @ 3pATE R

/

¥29. Environment education is necessary 10 schools

e

; - . gtudents
(A) in order to create Environmental Awarcncss among St

ase morale of Environmcmalisl-'i

(B) in order to incre
of the cnvironment

knowlodgc

(C) in order to make the students lcamed about the

(D) All the above.

fremrerd o wataror foen st #
tA)aﬁﬁuﬁzﬁﬁqﬁwa‘mﬁme?mmnﬂ?
(B)mwmﬁﬁwmammﬂ
<C;mﬁﬁmﬁﬁ$ﬁuﬂmmmiﬂzmmﬁ

(D) J9UE =l

130. The main cause of moral degradation in India is because of

(A) teachers not fulfilling their responsibilities

(B) running after time due to fast social change
(C) materialistic attitude

(D) unscientific tendencies.
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/‘Wﬁ@mmﬂmwﬁ?—m%?
(A)gmiﬁﬁim

@ T T

(C)g-aﬁ'tﬂaﬁ -

(D)-gﬁs‘{ﬂaﬁl

/ When was Himachal Road Transport Corporation formed ?

B) In 1937

©) In 1974

®) In 1975.

femrad Yo 99 OfiEed M = s oA 2

(A) 1972 ®
®) 1937 ®
©) 1974 ¥

D) 1975 ¥

g. n ancient times, Kangra was known by which name ?
(A) Nagarkot
(B) Kilar
(C) Jalandher
(D) Kauravpur.

T F § Hoeg R W QA SOSE e ?
(A) TRHE
®) fFar
(C) SR

(D) AL
8666/777/2 5



1. ‘The way ‘Medicine is to Pills’, Knowledge j5 to
A) Food
®B) Books -
(€) Time
®) Radio.
¥ o T ¥ el ¥, I Tt ?
&) "1 d
(B) ﬁﬁﬁﬁ '@f
€) 94 £
D) e q

\?'/ During which month are the highest lectures given ?
(A) February
(B) March
(C) June
(D) April.
frg WE ¥ TR s e Ru W § 2
(&) wTl
®)
©) ¥
@)

\z{ Which of the following is different from the others in its characteristics ?
(A) Ivory
(B) Gold
(C) Silver
(D) Platinum.
f A Y o D ST A # SR WS # 2
(A) wefiEia
®) g
© =i
(D) =TI

8666/777/2




5 78. .

‘Put the value of x in the following :

?
©3:18::13:x by
’ % > /,'\‘\ 3
(A) 24 g 24b 5
AL S \"f/ol'» 2 /~, ]
) 78 A & 8
A \ L

s
Vi
® 2. fr%

©) 48 /g

O 831388 118855
A) 24
(B) 78 &
© 48 A
®) 26.
i

The difference between Ram and Sham's age is equal to the difference between Sham and Ajay's
age. If the total of Ra.m an(_i Ajay's age is 48 years, what is Sham's age ?

(A) 24 years

ek o
(B) 26 years : @’M =&
(C) 30 years

(D) None of these.

T S TE A A F SR WW SR S H A B AW B R ¥ AR W R
1 B oy 48 T ¥ A wW H g AR ?

(A) 24 T
B) 26 T
© 30 T :
@) 7 ¥ T T

I
28 |
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~ ¢ be formed using letters of
82. From the given alternative words, find the word which ol 4 & \
given W(Lrg o o e
(A) LION"
(B) LOAN
(C) NATION
(D) LOTION. : |
mmﬁﬁﬁwﬂﬁmmwﬁmﬂmmﬁmmm:
» HALLUCINATION
(A) LION S
| (B) LOAN ¢
L S
) LOTION.

R

83 The way ‘Wine’ is related to ‘Grapes’, ‘Vodaka’ is related to what ?
(A) Apple
(B) Pomegranate
(C) Mango
(D) Wheat.
o TR AR R A §, I R (e e waf g 2
@) ¥
B) AT
ey ™
@) W

\8/4./ Find the odd one that does not belong to the group : P
(A) Wheat =
(B) Mustard v
(C) Barley :
(D) Corn. ’
frafafad § @ 39 gFT S 9 @ FEbT T 2
@
B) T
(©) IS
(D) TFHI

8666/777/2, 30
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V

o T H, B s 9 AE TR fon s § 2
(A) S T B

B) I T H g

©) T T orfus fefiml o

) T o = vt = T T

w main reason for truancy is

(A) lack of interest in studies
(B) drug addiction

(C) teacher's inability to create interest in the class

(D) All the above.
TR & e FRO B
(A) &% ¥ ¥\ 7 e
(B) T

(C) 3eOUF F H&1 ¥ w9 9 FH N S@Ey B
(D) ST g

»\lﬂ{. A teacher must take interest in research because

(A) this develops the knowledge base

(B) the teacher remains busy

(C) the teacher keeps on learning about new discoveries
(D) All the above.

T&F S & NvwE o w9 o fee, its
(A) S99 FH =g §

(B) 3TeAIY® o T &
(€) AT iR ¢ o9 & | § IER T w9 wa b
(D) ST G|
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imm#wmz;mﬁ%
(W T F T g

® @ F T g

(©) T AT F e =i g

® @ F T grn

!ﬁm%

N

«gam while you learn’ scheme was launched by
(A) Ministry of Human Resource

(B) Ministry of Rural Development

(C) Ministry of Tourism

(D) Ministry of Youth Welfare.

“Earn while you leam’A TS I F T o
(A) AFE YAA T g

B) Y o W gm

(©) WA wae g

(D) I FHAV TAGF ZA

23. Major food crop of India in terms of production is
(A) Wheat
(B) Rice
(C©) Jowar
(D) Barley.
IR F AYR W 9RG F! A @ FEA ¢

(A)
(B) drEad
(©) r

(D) ==l

[PTO.
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Kullu is famous for which festival s
(A) Diwaj

(B) Holj

(©) Makar Sankrantj

(D) Dashehya.

5. When did Kangra €Xperienced devastating earthquake ?
(A) On 15th July, 1904

(B) On 10th September; 1905

(©) On 4th April, 1905

(D) On 14th December, 1904,

FIE F T T e oA Fq Ry o S
(A) 15 e, 1904 =

(B) 10 faa=R, 1905 =

©) 4 334, 1905 =

D) 14 fEmm=R’, 1904 =y

V4
/

/
6/. " Which out of the following is the State Flower of Himachal Pradesh ?

(A) Pink Rhododendron
(B) Red Rhododendron
(C) Pink Rose

(D) White Rose.

8666/777/2 4



RBI # TH Toqurer =1 o &
(A) wEE Ty

(B) FER HrARm

(©) T T

(D) 3™ R \ A

27/ Under which Article, the state of Jammu & Kashmir has been
(A) Article 352

(B) Article 358
(C) Article 370
(D) Atticle 394,
W"mmﬁfﬂw*mﬁmmm:ﬁﬁmw%?
(A) TR 352
(B) =R 358
(©) =R 370
(D) JT=T 394.

given the status of Special State?

JK The only organisation concerned with children's welfare all over the world is
(A) UNICEF
(B) UNFP
(C) UNESCO
(D) UNIDO.

R fava § 7= F Feqm Y gAY @AA qe

(A) UNICEF
(B) UNFP

(C) UNESCO
(D) UNIDO.

[PTO.
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go. Select th,ri@y answer for the blank space -

72|55 |57

Bl s [as| 67

f110]30 |z | .

A) 50&@ o -

(B) 40

©) 30

D) 20.

f =R = M'ﬂﬁ I ﬁﬁQ :
25115 |15
515 |25 "
10 | 30 | ...

(&) 50 2

(B) 40

©) 30

(D) 20.

Mhich is the largest fraction in the following ?

(A) 5/6
(B) 6/7
©) 18
D) 8/9.

g ¥ gag < = SR-a @ 2

(A) 5/6
®B) 677
(C) 7/8

}D)/ 8/9.

8666/777/2
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' the alternative which best describeg b

wfm which lose the leaves mua“y.the ieaning of the following sentence -
(A) Vibrant

(B) Venal

(C) Vaneral

(D) Deciduous.

3 . Nos. - : Find the suitable a1 :
pirections (Q- Nos. 64-68) : Find the suitable alternatives fo, these questions on the basis of
following paragraph e basis of

8666/777/2

We live at a time when history is being remade, Ty i
“o%. there is unrest in eve !
: g& o ery sphere e
are contradictions in aim and confusion of thoughy i i vl r}’l.QI.)erL of life. There
2 i C. In religion eac) >
highest philosophy and are victims of the Worst supe 8ion, we preach the

mstitions, The 10 [ nati i
: . wth of national conscious-
is retarded by communal separatism. conomic sit lb e
ness - > Situation;
and f . g :
. finds out the amoun Spent on drink and dissipation
gambling and betting: he will not consider the people or ,

he place 1o be by any means poor, and
wder conditions hardly to be borne and
chaos and Injustice. The mass of poverty, the extent of
¢ tangled growth of vested interests
but an infinity of problems. Many of
and complexity of the situation but what is
short cuts to their solutions.

Take the ¢ = A
city of Calcutta in the Christmas season if anyone visits, say, the
yel the existence of slums and those who live in them ur
a sad commentary on utter economic
illiteracy. the social obstacles in the way of improvement,
(religious, political and economic) reveal not one problem,
us have an emotional apprehension of the vastness

mqum:d 15 a scienufic view. There are no s

Oa visiing the city of Calcutta on Christmas,
there are

one gets the impression that the people living

{A) religious-minded
(B) immortal

(C) well to do

(D) poor

aces an infini s ?
What is it that does not reveal that country faces an infinity of problem:
(A) The mass of poverty and the extent of illiteracy

E- 3 > > l
(B) The social obstacles in the way of improvemen

(C) The tangled undergrowth of vested interests '
i on drinking and other vices.

- ing spent
(D) The amount of money being s




Y. IR TR F e &
@) T R T o g

®) T F T F uf qne
© 3R M g formm = srrRen
@) TR BRI o sl Afeman 1 e

d .

8. T TR W ST AWE @ wwaw @
A) v IR g
@)“ﬁaﬂ?ﬁﬁmwﬁmmm
(©) fom =t wigr
@) A

g/mwmawm%

A (A) S5 # g% B e
1 91 &7

S o B) IS qAfiain & fag
T Fer (C) WIS gegawen & fea
M HT _
o ik D) 3T et % g =

5. ww ¥ ‘IR W= @ sfnm @
(A) TRl
®)
(©) wfm

(D) 3SFRI

19
8666/777/2
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108. Nationay Policy on Education (NPE, 1986) was revised by
(A) Ramamurti Committee
(B) Janardan Committee
© Yashpal Committee

/ D) All the above.,

Wﬁmﬁﬁrmawsmw#%hwm
A) T s g

B) ST s oy

© =@ s 2

(D) SR s

109. Which of the following is the firgt Indian University ?

(A) Bombay University
(B) Madras University
(C) Lahore University
(D) Calcutta University.

(A) ¥ favafraners £
(B) W favafimmm

(©) WRR fovafaaer

(D) wos favafaaem

I‘A Who gave the recommendation for setting up of a University Grants Commission ?
(A) Sargeant Plan of Education
(B) Radhakrishnan Commission
(C) Kothari Commission

(D) None of these.

8666/777/2 40



,"

in a certain code, if HIMACHAL is coded as JKOCEICN, what will be the code for ORISSA ?
| (4 QTKUVC

®) QTKUPC

@ QTKUUC

D) QTKUUB.

mﬁaﬁ%ﬁﬁwﬁﬁamﬁﬂﬁ HIMACHAL #1 %< % JKOCEJCN, Tl ORISSA F1 FI1S

0 B ? v

(A) QTKUVC

®) QTKUPC

(©) QTKUUC

(D) QTKUUB.

\s)/ In a line Ram is at 15th position from the last. What will be his position from the front of
the line ?

(A) 12th

(B) 13th

(C) 14th

(D) Cannot be known. ,
s wha F Tn 0D ¥ 159 R W R I Q W A 3T H R W ?
(A) 128 ‘

(B) 13af

(C) 143t

(D) I & a1 wan

Wble costs Rs. 300 and a chair costs Rs. 100. What will be the total price of 4 tables
and 6 chairs ?

Ry
(A) Rs. 900 S e
(By Rs. 1800
(C) Rs. 1600
(D) Rs. 1200.
8666/777/2
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CBSEWWM%
&) g=g ¥

®) e ¥

© ¥ et §

(D) Wl

Qg./Mudaliar Commission was appointed in

(A) 1952-53

(B) 1948-49 gt

(©) 1950-51

(D) 1958-59.

TRIERR s 3t frgfra #1 T oA
(A) 1952-53 ®

(B) 1948-49

(C) 1950-51 H

D) 1958-59 Hl

Which Central Ministry looks after education and its related aspects ?
(A) Ministry of Defence

(B) Ministry of Human Resource Development

(C) Ministry of Rural Development

(D) Ministry of Labour.
masa@gégqmﬁﬁwﬁﬂ-wWWW%?

(A) & HARHE
(B)qﬁawmﬁam

35




v js called

1 . 1dren of °

\M child who cannot work at pace with the childs

(A) Backward child

(B) Creative child

(C) Gifted child

(D) None of these. ¢ eh{
. & &

T S S STg He ST e B AE

(A) fuser 9F
(B) gSmEitel SIeT®
(C) wfawreedt STeT®
(D) T ¥ HE =

T &, S FE ¥

; 9
149. Which of the following leads to stress in the exams *

(A) Anxiety

(B) Un-preparedness
(C) Less understanding of the subject

(D) All the above.
freifefag § @ R w0 @ e ¥
(A) fa=m

(B) ¥ T B

©) fava # w9 T T

(D) ST Tl

151{ As a teacher you will give extra marks to those students

(A) who take tuitions from you
(B) who often work at your home

B A

(C) who are girl students
(D) who deserve it.

T AAE TR B AN S I Sn i Il 3w W
(A) S TR T A T T

(B) S AFW TP W W FM FW §

(€) St BT &

(D) S 39 T T

56
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51

Give One-word substitution for the following sentence -

® A schoo] boy who cuts classes regularly is called -
(A) Defeatist

(B) Sycophant
© Truan
(D) Martine.

5
Za Choose the worg Which is the €Xact opposite of the given word :
® MORTAL
(A) Divine

(B) Immorta]
(C) Spirituag
(D) Eternal.

53. Complete the Proverb by choosing correcs word
® Diamond cuts .
(A) iron

(B) gold
(©) silver

(D) diamond.

54. Choose the analogous word for the missing set of followine analogies
| ® Poddle : Dog : : Homicide - ?
(A) Duck
(B) Donkey
(C) Insect
(D) Pathogen.

o 20



1
\)8'/8“13?036 you are a lady teacher. Some of the men s

(}3{ Suppose a student is not able to understand your poin

parassing and criticizing You

pers S

What will you do ?
(A) Reply in the same coin
(B) Will fight with them

(C) Inform the Principal ;
(D) Talk to them personally about the cause of such behavw“;{a # ol AT AT T3
WWW@W%@WWMW@ =
& o T oW 2

(A) ¥ F VO TR ¥ 9@

(B) ST FWIE H4

© o g w6 ,
(D) @meaﬁﬁﬁn,m@mﬂ@mﬁl

¢ of view in the class,

(A) you will snub the student and make him sit quietly

(B) you will not pay any attention to him

(C) you will not move ahead unless and until the student has fully understood

(D) you will tell him to ask after the class.
o <y W Pl we § o gewm w W § w8 @
(A) o9 34 @t 9 99 @ & faw st

(B) 39 ITH! WF HE @AF & a1 T

(C) 39 T T M A WA, 9 oF 98 @ W W @ A A

(D) M9 QU FHEl F G- TR B O HEAI

140. If you are close to the head of the school, you will always

8666/777/2

(A) concentrate on buttering

(B) concentrate on your subject, students and teaching

(C) bully other teachers
(D) play politics in the school.

52




76.

77. In the following series which number will come in the blank space ? ?

AN

. West, then 3 km e
\an travels 12 km towards West, towards

far is he from the start ?

(A)

(B)

flmwmﬁmﬁam%?

(A)

(B)

(O

22 km
20 km

15 km

22 fasht
20 fedt
15 faesdt

(D) 5 fawdh

* 6.2, 58, 54, 50, ............
tA) 4.0
(B) 4.2
(C) 4.4

D) 4.6.

2 0 oqEen A frm T W AR-A@ wen s 2

© 62 58 54,50, ...
(A) 4.0
(B) 4.2
(C) 4.4

(D) 4.6.

%666/777/2
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to a particular class g bee
n

j1dren
. . of o
3 According to Right to Education Act, admission
proposed on the basis of

(A) ability of the child
(B) age of the child
(C) socio-economic status of the child

i arents. 3
g;:c;z;f:;;wﬁm,ﬁmwmwﬁmmmm%
(A) ST ®T AR
(B) ITH Y
(C) e &1 s 9 suffd &R
D) wra-faar &t frem

11A4. In your opinion, a successful teacher is one who
(A) gives homework regularly
(B) gives good marks in examination
(C) takes keen interest in the progress of students
(D) comes to school in time.
ATH T § TH FHOAE FATE TE 7 A
&) wfife e 2 @
B) Wen 4 =3 IiF dm ¥
(©) faanfdal & faem & Ted ¥ @@
(D) Torare™ W R S 21

P
l@'./’l'he main objective of Child-centred education is
(A) to develop ability to learn in free environment
(B) to develop free skills in students
(O) to develop self-confidence and self-dependence

(D) All the above.

8666/777/2 42




- A5 T fafy o e S R

@) T ¥ G e § @R W AT w R o
®) BH % T e w1 FEE

© B N cfevara @ AT B

(D) S Gy

\1%. Before going to a class, a teacher must prepare a list of teaching points, because
(A) it helps to make teaching more effective
(B) it helps to create discipline

(C) it helps to save time

(D) it helps to get an idea what to teach.
Wﬁﬁﬁﬁﬁwﬁmﬁ%wm,ﬁﬁ
(&) T® R w1 A s aEeel N Y weme an @
(B) THE WG s TEy ¥ Werd fiert @

©) T T N 99 o 2
m)mwmﬁﬁmﬁaﬁ%%wm%n

1\1}/1n your opinion which of the following is a must at the residence of every teacher ?
(A) A Library

(B) A Television

(© A well decorated Drawing room
(D) All the above.

mmﬁmwﬁmmﬁnﬁl@aﬁﬁﬁmmmmanm%?
(A) aEsH

(B) ZaifasH

(C) =3 W& | TN g1 WeuN ww

(D) I ity

8666/777/2 43



o WE i i e w TS I
(A) FETH R o e F D T
®) T R oo & FRO I F w
(©) MFS gt
(D) FAAEH Tafi

_19-/Whi°h type of education is beneficial for students and society both at present ?

(A) Education giving knowledge of technology

(B) Employment oriented professional education

(C) Religious education emphasizing moral values

(D) Special education.

Tl ok v, A @ o a0 § fRE TER @ R R § 2
() T St g SR

(B) IR B srymwmet sty Ren

(©) wifHw faen St W 7ol W o= ?

(D) ot frem

IEZ/Whose behaviour affects the students the most ?

(A) That of the Principal
(B) That of a politician

(C) That of a teacher

(D) That of a tutor.

il F fFg ® IAER W Uk gefad ¥ 2
(A) YHFEE H

(B) TSt 1

(C) SAME H

(D) frit foeww I

49 [P
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b

y Largest Public Sector Bank in India is
(A) Central Bank of India

(B) Punjab National Bank

(C) State Bank of India

(D) Indian Overseas Bank.
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S. /Which State of India created 21 new districts on October 11, 2016 ?
(A) Tamil Nadu
(B) Kerala
(C) Telangana

(D) Uttar Pradesh.
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26/ The name of the present RBI Governor is
(A) Manmohan Singh
(B) Arvind Mayaram

(C) Raghuram Rajan

(D) Urjit Patel.
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.y one of the following words spells wrong 9
ic

) AcceP
® Mcntioned

0 physician.

Fill in the blanks with appropriate preposition out of the following alternatives :

o You should start at dawn to reach the station

(A) upon
®) by
(C) in
(D) into.

Select your choice out of the four indirect conversions given below for the following sentence :

e “Could you get the tickets 7 he said to me.
(A) He ordered me to get tickets
(B) He asked me if I could get the tickets
(C) He requested me if he could get the tickets

(D) He asked me to get the tickets.

Select the right one out of the four passive conversions for the following sentence :

¢ Inform the police.
(A) The police be informed
(B) Let the police be informed
(C) Let the police to inform

(D) The police can be informed.
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